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<head>

<title> W& G+ o)A /i
</head>
<body>
<form actio
$acll %91%
$holl Eojz
<input type
<fform>
</body>
</html>|

="first_resullt.html">
1}"'? <input type=text name="a"> <br>
1} ? {input t¥ype=text name="bh">-<h
submit” value="%a B7]">
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FORMO| AL (2)

<html>

<head>

<title> 2 11 QI </title>

</head>

<boby>

<form action="second_result.html">

OlO|C| & &S| FTM| 2 <input type=text name="id"> <br>
H2HS E AHASHFTM| 2 <input type=password name="pw"> <br>

<input type="submit" value="2 11918} 7|">
</form>
</body>
</html>

Second_form.html
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<html>

<head>

<title> 21 Q! O}O|C| 2} T A 1 9l< /title>
</head>

<bodt>

<?

echo "g+412| OtO| E| = $id Y L|Ct. <br>";
echo "G4 9| I A | E = $pw Y L|CL. <br>";
echo "ZrAFStL|CE";

?>

</body>

</html>
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<html>

<head>

<title> 3|12t SLHE FH </title> EFA%S = (7]-100) * 0.9
</head> N N fi H 9 & = A5/ EE2AF * 100

<boby>

<form action="third_result.html">

01852 UEMNF=H R <input type=text name="name" size=10 maxlength=5>
<br>

HYE S HdEHd] F=H R <input type=radio name="sex" value="&XI"> & X}
<input type=radio name="sex" value="04 X}"> { A}

<br>

1€ LEMNFHR <input type=text name="height" size=3 maxlength=3>
<br>

S2HE 2o FTH R <input type=text name="weight" size=3 maxlength=3>
<br>

<input type="submit" value="H|2t& HI3ASII|">

</form></body>

</html>
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<html>
<head>
<title> AW A T </title>
</head>
<boby>
<?
Pavgweight = ($height-100)*0.9;
$biman = $weight/Favgweight*100;
echo "SF33FAI R oJAIHEH $name HE HIHFEE AT H
<br>";
echo "$name H9| 7]+ Sheight Y YT T A %? <br>";
echo "$name e F5F A= Sweight Yt} 2O A1 F£? <br>";
echo "$name {9 Z A5 favgweight YUY <br>";
echo "$name H 9 B == $himan YY T <br>";
7>
</body>
</html>
third_result.html
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 if($biman>110){
echo "$name -2 H|OFQ L|C} <br>";

b
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if($biman<=90){
echo "$name H2 M AIZSLICH <br>";
}

if(90<$biman and $biman<=110){

echo "$name =2 HALICH <br>";
}

if($biman>110){
echo "$name &2 H| 2 LICH <br>";
}

fourth_result.html
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<html>

<head>

<title> A& 22| & </title>

</head>

<body>

<form action="fifth_result.html">

0| & : <input type=text name="name" size=10 maxlength=5> <br>
dA&s Ao =H2<br>

= (4 : <input type=text name="korean" size=5 maxlength=5> <br>
A : <input type=text name="english" size=5 maxlength=5> <br>
=35t : <input type=text name="math" size=5 maxlength=5> <br>
<input type="submit" value="X2|6tJ|">

</form>

</body>

</html>

fiftth_form.html




<html>

<head>

<title> T4, B <o) FA K /title>
</head>

<body>

<?

$sum = $korean+ $english+ $math;

$avg = $sum/3;

if($avg<=100 and $avg>=90){
$grade=" JHH";
}

elseif($avg<90 and $avg>=80){
$grade="-¢ JHH";
}

fifth_result.html(1)




elseif($avg<80 and $avg>=70){
$grade="1] "
}

elseif($avg<70 and $avg>=60){
$grade="¢ YY"

}
elseif($avg<60 and $avg>=0){
$grade="7} Y H";
}
else{
$grade="A++E 0~100F Ale]dHtt.<br> T4 A9 AUt A
g vty o
}
fifth_result.ntml(2)




